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 Notes : 1. All questions are compulsory. 

 2. All questions carry equal marks. 

 3. Give correct question number of the answer. 

 

    

1.  State the positive and negative effects of modernization of Agriculture in rural sector. 
 

OR 
 

State the role of Agriculture in Economics Development and Explain the interrelation 

between Agriculture and Industry. 

 

16 

2.  Explain the problems in rural industrialization and its solution. 
 

OR 
 

Explain the progress rural economy in education and health. 

 

16 

3.  Write answer of following question any two. 

a) Explain the causes of low productivity of Agriculture in India. 

 

b) Explain the concept of agricultural production function. 

 

c) Write a note on Technical change sin agriculture. 

 

d) Explain the concept of farm Budgeting. 

 

16 

4.  Write answer of following question any two. 

a) ‘Inverse relationship between farm size and productivity’ Explain its. 

 

b) Benefit of collective Farming. 

 

c) Limitation of Land reforms. 

 

d) Explain the problems of marginal and small farmers. 

 

16 

5.  Answer the following questions in short all questions are compulsory. 

a) Explain the poverty as an obstacle in Agricultural development. 

 

b) Write a note on ‘White revaluation’. 

 

c) State the meaning of Agricultural Labour. 

 

d) Write a note on Land distribution. 

 

16 

  **********  
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 सुचना :- 1. सर्व प्रश्न सोडवर्णे आर्श्यक आहे. 
 2. सर्व प्रशनाांना समान गुण आहे. 
 3. उत्तराांना योग्य प्रशन क्रमाांक द्या. 

 

    

1.  ग्रामीण क्षेत्रार्र कृषीच्या आधुननकीकरणाचा सकारात्मक र् नकारात्मक पररणाम वर्शद करा. 
 

क िं वा 
 

आर्थवक वर्कासात कृषीची भूममका साांगा आणण कृषी र् उद्योगातील आांतरसांबांध स्पष्ट करा. 
 

16 

2.  ग्रामीण औद्योगगकरणातील समस्या स्पष्ट करून उपाय सूचर्ा. 
 

क िं वा 
 

ग्रामीण अर्वव्यर्स्र्ेत शिक्षण आणण आरोग्य क्षते्रात झालेली प्रगती साांगा. 
 

16 

3.  खालील प्रशनाांची उत्तरे शलहा  ोणतेही दोन. 
अ) भारतीय िेतीची उत्पादकता कमी असण्याची कारणे साांगा. 
 

ब) कृषी उत्पादन फलन ही सांकल्पना स्पष्ट करा. 
 

क) ‘कृषीमध्ये ताांत्रीक बदल’ टटप शलहा. 
 

ड) कृषी अांदाजपत्रकाची सांकल्पना स्पष्ट करा. 
 

16 

4.  खालील प्रशनाांची उत्तरे शलहा  ोणतेही दोन. 
अ) ‘िेतीचा आकार आणण उत्पादकता यामध्ये वर्रूध्द सांबांध असतो’ स्पष्ट करा. 
 

ब) सामूटहक िेतीच ेफायदे. 
 

क) भु-सुधारणेच्या मयावदा. 
 

ड) भारतातील शसमाांत आणण छोट्या िेतकऱयाांच्या समस्या स्पष्ट करा. 
 

16 

5.  खालील प्रशन सोडर्ा सर्व अननर्ायव. 
अ) कृषी वर्कासात दाररद्रय हा एक अडर्ळा आहे स्पष्ट करा. 
 

ब) टटप शलहा ‘शरे्त क्राांती’. 
 

क) िेतमजूराचा अर्व साांगा. 
 

ड) जमीन वर्भाजनार्र टटप शलहा. 
 

16 

  ***********  
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 सुचनाएँ :- 1. सभी प्रशन अननर्ायव है। 
 2. सभी प्रशनों के अांक समान है। 
 3. उत्तरो को सही प्रशन क्रमाांक दें। 

 

    

1.  ग्रामीण क्षेत्रपर कृषी के आधुननकीकरण के सकारात्मक एर्ां नकारात्मक पररणाम स्पष्ट करे। 
 

अथवा 
 

आर्थवक वर्कास में कृषी की भूममका बताईये तथा कृषी एर्ां उद्योग का आांतरसांम्बन्ध स्पष्ट ककजिए। 
 

16 

2.  ग्रामीण औद्योगगकरण की समस्याऍ बतलाकर उपाय बतलाईए। 
 

अथवा 
 

ग्रामीण अर्वव्यर्स्र्ा में शिक्षा एर्ां आरोग्य क्षेत्र में हूयी प्रगती स्पष्ट करे। 
 

16 

3.  ननम्नशलणखत प्रशनों के उत्तर टदजजये  ेवल दो। 
अ) भारतीय कृषी में ननम्न उत्पादकता के कारण बताईए। 
 

ब) कृषी उत्पादन फलन यह सांकल्पना स्पष्ट ककजजए। 
 

क) कृषी में ताांत्रीक बदल टटप्पणी शलणखए। 
 

ड) कृषी बजट की सांकल्पना स्पष्ट ककजजए। 
 

16 

4.  ननम्नशलणखत प्रशनों के उत्तर टदजजऐ  ेवल दो। 
अ) ‘फमव का आकार एर्ां उत्पादकता में वर्लोम सांबांध होता है’ स्पष्ट ककजजए। 
 

ब) सामूटहक खेती के लाभ। 
 

क) भु-सुधार की मयावदाए। 
 

ड) भारत के शसमान्त और छोटे ककसानों की समस्याऍ स्पष्ट ककजजए। 
 

16 

5.  ननम्नशलणखत प्रशनों के उत्तर टदजजऐ सभी प्रशन अननर्ायव है। 

अ) कृषी वर्कास में ‘ननधवनता एक अडर्ळा’ स्पष्ट ककजजए। 
 

ब) टटप्पणी शलणखए ‘सफेद क्राांती’। 
 

क) कृषी श्रशमक का अर्व बताईए। 
 

ड) भूमी वर्भाजन पर टटप्पणी शलणखए। 
 

16 

  ***********  
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